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If so; why four, there are only three — 137 7wHw 7v29K 9577 9N

Overview

There is a dispute how to interpret the phrase 1% X?1 719 X7 in the Xn»1a
(where the ruling is 2™ ¥ 2»n and 1"n for 17p). According to Rww it
means that only the pr1 had permission to be there (this X950 follows the
ruling of the 1127 [not v"7]). However X1°27 maintains that the ¥9°0 (follows
the view of u"1 and) is discussing a case where it was ' M 712 X9 712 &Y
and 717 M7°9). The X3 asks that according to X1°27 there are only three
cases in the Xn>>73; not four. MdOIN will explain why this question is only on
X1°27 and not on *>Xmnw.

— 13349 NOYDY POV 29 XYY SPINT HNINIYY NnYwa
It is fitting according to ®X12w, who establishes the 8w of the xn»2

according to ©'" and the X% according to the 1127; it is therefore fitting to mention

in the {012 all four cases, for -
— 19990 22971 *PIOND 1IMNYND NIPD TPIVNN

The X990 (of *a15 891 71> &) is necessary to teach us an alternate view; to

exclude from the view of 4rn"w; that is why there is no difficulty according to Xmw.
— 95 N2 NI N»*29Y NON

However according to X139 who maintains that the entire ¥n»72 follows

the opinion of ©"", the fourth case was not at all necessary -
— PVIY MY NINY 599 13990 PN 98N M0 JY 22357

For concerning Jw (where only the p1°1 has m°9% nmw) that it is a =31
»1°17 (and the P12 pays a v"1) we know that from the first case in the Xn>12

where it states that P 1% 891 '1o1% nws R¥7T2 93" he is Y21 270 -
$AYPAM PAMYN 8NN 1IYNY 02290 MY 19P)

And concerning 19? (where both 21w have no permission to be in the
%23r), that it is considered as if he damaged him in the 7"";19 (and pays only

a 1'n), this we know from the third case of 7¥P2m 195017 987 where it states
that a on pays a 1"n. Therefore the X723 asks that there are only three cases, not four.

! See previous X7 71"7 moOMN.

? Seemingly the Xn™a is even more difficult according to 2Xmw; for in s™>Xmw interpretation, the last case
(7719 X291 7112 RY) is the exact duplicate of the first case (P°1n? X771 pro12 mwn Xiw 25). However, according to
X127, the last case is different from the previous three cases (for neither have 2> mw> nw and only the P13
has 1'% mwA).

? According to X this is referring where only the pr°1 had permission to be there, and not the .

* The xn™"2 is stating that there are four rules; (the middle) two according to everyone the first according to
0" and the last according to the 7127. Rule # 1 and # 4 are discussing the same case; # 1 is according to 0",
and # 4 according to the 7121.

> The fact that the »11 has no @MW MM in the 731 does not diminish its status as a X 77w,

% See “Thinking it over’.

7 See previous X2 71"7 mooIN footnote # 2.
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Summary
It is necessary to cite the fourth case according to ?X»W to reject the opinion

of v"7; however (according to X1"27) the rules of the fourth case can be
derived from the previous cases.

Thinking it over

mooIn claims that we can derive the fourth case (according to X1°27)
concerning 17 from the (third) case of *Ponmwi 2¥n. Seemingly they are not
the same.” MdoIN taught us that the case of X121 is in a situation where X3
MWL A17 R A12; how is that similar to a vpam Ponmwi 3, where both
have mwA?! Perhaps only 1onwi 7x¥n is considered 1"7772 179 because they
both have mwn, however by 1% X?1 712 X2 where neither have mwA it is not
considered 7"712 w21

¥ See footnote # 6.

? According to our X073 (the X073 of *"w1) that we are discussing 2™ MY 7121 779, the question is readily
understood; however it is difficult according to n1901N NO™.

10 See "3 ,7"90 ;"3 , 80PN MR 1" WAL 1T 'oIn3 RMwAAn.
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